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Abstract of the contribution: This document presents two scenarios of H(e)NB deployment. The difference of the two scenarios lies that whether the backhaul network is owned by the same operator as the one deploying H(e)NBs.
1. Introduction

In view of variant network infrastructure situations, the scenarios of deploying H(e)NBs may be different among operators, e.g., the backhaul network may belong to another operator. Such differences may lead the operator to prefer different solutions for local IP access to the Internet. 
2. Proposal
The following changes are proposed to 6.3.10.1 of TR 23.830.

* * * First Change * * * *
6.3.10
Support for Local IP Access to the Internet 

6.3.10.1
Description
This section addresses the architecture issues related to support for Local IP Access to the Internet

The requirements for support of Local IP Access to the Internet are defined in section 5.1.8. 

Depending on the bearer network infrastructure situations, there are two scenarios that H(e)NBs are deployed by operators. 

· Scenario 1: One Operator Takes All. An operator has fixed line access resources such as ADSL or fibber that reach the subscriber’s home. Therefore, the core network and the backhaul network used to connect H(e)NBs with the core network belong to one same operator. This situation is depicted in Figure 6.3.10.1.
· Scenario 2: Employs another Operator’s Network for Backhaul.  An operator has no fixed line access resource in a subscriber’s home. The H(e)NB is connected with the operator’s core network through a backhaul network which is provided by other operators as shown in Figure 6.3.10.2.
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Figure 6.3.10.1 One Operator Takes All
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Figure 6.3.10.2 Operator A employs B’s network for backhaul
For the two scenarios, the network operations and the data link security issues are different. As for the local IP access to the Internet, the IP traffics to the Internet may break out at HeNBs or at HeNB-GWs to reduce the time delay. 

· For Scenario 1, the operator may let IP traffics to the Internet break out at either HeNBs or HeNB-GWs.

· For Scenario 2, the operator A may prefer to let IP traffics to the Internet break out at HeNBs instead of HeNB-GWs. The reason is that subscribes generally do not accept being charged by both operator A and B. If these traffics are only charged by B with fixed fee per month, breaking out at HeNB-GWs leads no good user experiences caused by the increased time deley. Moreover, the operator A receives no benefit on profit. Therefore, breaking out at HeNBs is a good choice for Scenario 2.
* * * End of Change * * * *
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